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1. In a class there are 32 boys and 28 girls. The average age of the boys in the
class is 14 years and the average age of the girls in the class is 13 years. What is
the average age of the whole class (rounded to two digits after decimal)?
a.12.51

b. 13.42

c. 13.50

d. 13.53

Ans: D

-

_ (32x14+28x13 _(448+364]_812
Regyumei mremges 32 + 28 2 60 ) &0

= 13.53.

2. David obtained 76, 65, 82, 67 and 85 marks (out of 100) in English,
Mathematics, Physics, Chemistry and Biology. What is his average marks?
a. 65

b. 69
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76 +65+82+67+85 375
5 5

3. The average age of 3 children in a family is 20% of the average age of the

=75

Average marks =

father and the eldest child. The total age of the mother and the youngest child is
39 years. If the father’s age is 26 years, what is the age of the second child?

a. 15 years

b. 18 years

c. 20 years

d. cannot be determined

Ans: D

Since the tLuta.l or average age u.fia.]l the family members

is not given, the given data is inadequate. So, the age of
second child cannot be determined.



4. The average height of 25 boys is 1.4 m. When 5 boys leave the group, then the
average height increases by 0.15 m. What is the average height of the 5 boys who
leave?
a. 0.8 m
b. 0.9m
c. 0.95m
d.1.05m
Ans: A
Sum of heights of the 5 boys = (25 x 1.4 — 20 x 1.55) m
=4 m.

Required average = [%]m=[].8 m.
5. The mean of 25 observations was found to be 78.4. But later on it was found
that 96 was misread as 69. The correct mean is
a. 76.54
b. 78.4

Yeritnotes.com

Correct sum = (Y84 x 25 + 96 — a9) = 1957.

1987
- Correct mean = ?= 7948,



